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Bem— (6,240 1,495 1,900 4,655 1,060 200 430 5,335 100 150 100 50 200
‘Bm_  [6,240 1,495 1,900 3,549 0 200 5,335 100 100 50 200
‘Bm= (6,240 1,495 1,900 3,252 0 200 5,335 100 100 50 200
FHE— 6,240 1,430 1,030 4,981 1,060 200 430] 4,565 100 150 100 50 200
FHZ 6,240 1,430 1,030 4,409 0 200 4,510 100 100 50 200
FHE= 6,240 1,430 1,030 4,371 0 200 4,455 100 100 50 200
HR—E (6,240 1,495 1,900 4,694 1,060 200 430 5,335 100] 5,180 150 100 50 200
#BiR—2Z (6,240 1,495 1,900 4,694 1,060 200 430 5,335 100] 5,180 150 100 50 200
BB (6,240 1,495 1,900 3,454 1,060 200 5,335 100 100 50 200
WK _2Z (6,240 1,495 1,900 3,454 1,060 200 5,335 100 100 50 200
HIR=m 6,240 1,495 1,900 4,176 0 200 5,335 100 100 50 200
WHR=2 (6,240 1,495 1,900 4,536 1,060 200 5,335 100 100 50 200
RE—HF 6,240 1,495 1,900 550 4,496 1,060 200 430 5,335 100 150 100 50 200
RE—Z 6,240 1,495 1,900 550 4,496 1,060 200 430 5,335 100 150 100 50 200
REH 6,240 1,495 1,900 3,455 0 200 5,335 100 100 50 200
REZZ 6,240 1,495 1,900 3,455 0 200 5,335 100 100 50 200
RE=H 6,240 1,495 1,900 3,286 0 200 5,335 100 100 50 200
RE=Z 6,240 1,495 1,900 3,286 0 200 5,335 100 100 50 200
Ef—F 6,240 1,495 1,900 550 4,289 1,060 200 430 5,335 1000 2,735 150 100 50 200
EH—2Z (6,240 1,495 1,900 550 4,289 1,060 200 430 5,335 1000 2,735 150 100 50 200
BHETF 6,240 1,495 1,900 3,241 1,060 200 5,335 100 100 50 200
B 6,240 1,495 1,900 3,241 0 200 5,335 100 100 50 200
BH= 6,240 1,495 1,900 2,421 0 200 5,335 100 100 50 200
BEF— 6,240 1,495 1,900 4,437 1,060 200 430 5,335 100] 2,260 150 100 50 200
BT F 6,240 1,495 1,900 3,439 0 200 5,335 100 100 50 200
BT 7 |6240 1,495 1,900 3,439 0 200 5,335 100 100 50 200
BT=HF 16,240 1,495 1,900 2,552 0 200 5,335 100 100 50 200
BT=7 6240 1,495 1,900 2,552 0 200 5,335 100 100 50 200
&il— (6,240 1,495 1,900 4,403 1,060 200 430 5,335 1000 2,393 150 100 50 200
= (6,240 1,495 1,900 3,383 0 200 5,335 100 100 50 200
Fi= 6,240 1,495 1,900 2,835 0 200 5,335 100 100 50 200
{ET— 16,240 1,495 1,900 550 4,143 1,060 200 430 5,335 100 150 100 50 200
{ET= 6,240 1,495 1,900 2,798 0 200 5,335 100 100 50 200
{ET= 6,240 1,495 1,900 2,117 0 200 5,335 100 100 50 200
BHE— 6,240 1,495 1,900 550 4,176 1,060 200 430 5,335 1000 3,320 150 100 50 200
BEZ 6,240 1,495 1,900 3,683 0 200 5,335 100 100 50 200
BE= 6,240 1,495 1,900 1,913 1,060 200 5,335 100 100 50 200
BEE— (6240 1,400 800 4,597 1,060 200 430] 5,335 100 150 100 50 200
BEE— (6,240 1,400 800 3,078 0 200 5,335 100 100 50 200
BE#E= 6,240 1,400 800 2,433 0 200 5,335 100 100 50 200
BWE— (6,240 1,495 1,900 4,926 1,060 200 430] 5,335 1000 2,970 150 100 50 200
HWE— (6,240 1,495 1,900 3,722 1,060 200 5,335 100 100 50 200
HWE= (6,240 1,495 1,900 3,127 1,060 200 5,335 100 100 50 200
Ek— 6,240 1,495 1,900 4,421 1,060 200 430] 5,335 100 150 100 50 200

B 6,240 1,495 1,900 3,383 1,060 200 5,335 100 100 50 200
FZH= 6,240 1,495 1,900 1,223 1,060 200 5,335 100 100 50 200
&ri— 430] 4,785 100 150 100 50 200
- 4,620 100 100 50 200
= 4,015 100 100 50 200
#E A A

SR O (RLER -2

> |[FAEF RE-RVE TRR-FEPF CKIBBRFERYIF A FBREESHT

&

RALER 2P VR T RY

¢ A

REERHER -2 Y 3 T/10

ER

FREFHEY -2 ¥ 24/10

FREE

RLERRY 2 Y 16/10

# 4

# %% 13/10

RLR

RAEE P TRY

LIRS

RLEFIRE 2V R6/10 4 FBAE2 5t p

LE ¥

gy

N

FAES 3 2 Y 710/10

T

FLER et

AFER
7 RE

FRER R




